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Guess Paper 2011
Class –XII
 Subject – Mathematics
                                                                                                  M.Marks-100 

Time- 3 Hours

       __________________________________________________________________________________

General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 29 questions divided into three sections A, B and C. Section A   comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 7 questions of six marks each.

3. 
There is no overall choice. However, internal choice has been provided in 4 questions of four marks each and 3 questions of six mark each. You have to attempt only one of the alternatives in all such questions.

SECTION A

1. Find the principle value of the 
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2. Given A= 
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3. For what value of x, 
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 is a singular matrix?

4. If A is 3x3 matrix and
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5. Evaluate : 
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6. Give an example to show that the following relation R defined as  R={(x,y) : x(R, y(R  & 
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7. Write the value of 
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8. Find the unit vector along the sum of vectors
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9. Two dice were thrown and it is known that the numbers were different. Find the probability that the sum of  two numbers was 4.
10. Find the angle between the lines
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SECTION B

11. Let * is a binary operation on set Q defined as a*b=a+b+ab : (i) is * well defined ? (ii) is * commutative ? (iii) is * associative ? (iv) find the identity element of * if exist.

12. Prove that:
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OR
                       Solve for x : 
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13. Using properties of determinants, prove that:    
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14. For what value of  k the function  : 
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     is continuous at x=0.
15. Prove that y =
[image: image20.wmf](

)

q

q

q

-

+

cos

2

sin

4

  is an increasing function of 
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OR

For the curve y=4x3-2x5 find all the points at which the tangent passes through origin.

16. If 
[image: image23.wmf],

b

x

y

a

y

x

=

+

find 
[image: image24.wmf]dx

dy

.

OR

If  x= a(cost + t.sint)       y = a(sint - t.cost), Find 
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17.  Evaluate  : 
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18. Form the differential equation of the family of circles having radii 3.
OR

Solve the differential equation: 
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19. Solve the differential equation: 
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20. Find the value of 
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21. Find whether the lines   
[image: image38.wmf]÷

ø

ö

ç

è

æ

+

+

-

-

=

Ù

Ù

Ù

Ù

Ù

®

j

i

k

j

i

r

2

l

 and 
[image: image39.wmf]÷

ø

ö

ç

è

æ

-

+

+

-

=

Ù

Ù

Ù

Ù

Ù

®

k

j

i

j

i

r

m

2

  intersect or not. If intersecting, find their-point of intersection.
22. From a well shuffled pack of 52 cards. 3 cards are drawn one-by-one without replacement. Find the probability distribution of number of queens.
OR

           The probability of hitting a target is 3/4 , how many number of times must he fire so that the   

           probability of hitting the target at least once is more than 99%.

SECTION C
23. If A =
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, find A-1. hence  solve the following system of equations  :    
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OR
Using elementary transformations, find .the inverse of the matrix 
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24. Find the area  of the region in the first quadrant enclosed by the x-axis, the line y = x and the circle 
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25. An open box with a square base is to be made out of a given quantity of card board of area c2 square units. Show that the maximum volume of the box is  C3 / 6√3  cubic unit.

OR

The sum of surface areas of a sphere and a cube is given. Show that sum of their volumes is least when the diameter of sphere is equal to edge of a cube.

26. Evaluate :  
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27. An examinee either guesses or copies or knows the answer to a true/false examination. The probability that he makes a guess is 1/3 and copies the answer is 1/6. The probability that his answer is correct, given that he copied it is 1/8. Find the probability that he knew the answer to the question given that he correctly answered it.

28. Find the image of the point (1,2,3) about the  line 
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OR

If a line makes 
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29. A manufactures, two types of products-A and B. The product A require 1hour on machine X ,1 hour on machine Y and 4hour on machine Z. The product B require 2 hour on machine X ,1hour on machine Y and 1 hour on machine Z. In a given day machines X,Y and Z works for a maximum of 16, 9 and 24 hour respectively. The profit on product toy A is Rs. 600 and that on product B is Rs. 400. How many each types of products should be made to have maximum profit? Solve the problem graphically.
--------------------------------------------end-------------------------------------
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